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= + ) X 0.00893 )+ (( + 60.00 )>< 0.00964 )+ (( + )X 0.01060 )
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=(  99.50 4+ 71.40 )X 0.01798 )+ (( 8.00 + 11450 )X 0.02012 )+ (( + )X 0.02179 )
+((  69.00 + ) X 0.02405 )+ ( X 0.02500 )= 7.196 = 7.20 H
® KR THE A= (L1+L2, L3+L4+L5+L6+L7+L8, L9) X #%i#& A%t (b1, b2, b3)
=((  99.50 + 7140 )x 0.01000 )+ (( 8.00 + 114.50 + + +  69.00 + ) X 0.01800 )
+ ( X 0.02800 )= 5.156 = 5.16 H
@ GIFAL - IR L B F=9aH] 8 (C) X UIAL KL% (N /m3) (K) /3 A= 808.790 X 0.040 /3N = 10.784 = 10.78 H
al=D+ @+ @ + @ = 817 + 720 + 516 + 10.78 = 31.31 H
2. M H ¥ (ad) =ML A% & (D5) +~33. 0m3,/ H = 571.43 = 33.0 = 17.316 = 17.32 H
3. 51k B %k (ab)
O Ktisl4#k B #=4 R (L1+L2, L3+L4, L5+L6, L7+L8, L9) X5k H ¥ (t1°, 12" 13’ 14’ t5")
=( 99.50 4+ 71.40 )X 0.00893 )+ (( 8.00 + 114.50 )X 0.00964 )+ (( + )X 0.01060 )
+((  69.00 + )X 0.01155 )+ ( X 0.01250 )= 3.503 = 3.50 H
@ MR ER =R (L1+L2, L3+L4+L5+L6+L7+L8, L9) XHf£5# (b1’ b2’ b3")
=((  99.50 + 71.40 )x 0.00700 )+ (( 8.00 + 114.50 + + +  69.00 + ) X 0.01100 )
+ ( X 0.01700 )= 3.302 = 3.30 H
a5= 0 + @ = 350 + 330 = 6.80 H
4. FHH A% (a0) =al + (addD\ M Fab TIHO KXV = 31.31 + 17.32 = 48.63 H (X adDfEALRH )
5. it B ¥ (a) = a0 X 30 / 20 = 48.63 X30,/20= 72.94 = 73 H
6. fEAEIZE(N) = BIEE (L) /30m= 362.40 30= 12.08 = 12 [q]
7. fEAERE (W) =K (L1, L2+L3, L4+L5, L6, L7+L8) X KEHEE (W1, W2, W3, W4, W5)
=( 9950 x 0215 )+(( 7140 + 8.00 )X 0.268 )+ (( 114.50 + )X 0.322 )
+ (( +  69.00 )X 0.376 )+ (( + )X 0430 )= 1054847 =  105.485
8. 1kvhYyEE=([FHER (W) X30m FRILE (L) = 105.485 xX30/ 362.40 = 8.7322 = 8.732

KU - RBLHH (N m3) (K) =0.04 ("~'v7Er0.45m35%)




EHIERE1 5T

K H K- T/i/%ii% EfE S EE

iR ot

BIRIEE L 415 90 29.50] 445.40

D1 (#ef FE6%) 39.45
BEIRE SRR (W JLm) 78.40
BT A A HE D2 0 8.42
B EEeEEE (D3 78.40 0
HEH2EEE (D4 448.35 39.19
WA B D5=D2+D3+D4| 526.75 47.61] 574.36

1. T (al)
BRI - ) Ui H ¥ =D1-+97. Om3,/ H Pty Feqis

39.45 + 97.0 = 0.406 = 0.41

7 0.41

2. B A ¥ (a2)
(ANJHET) Ak B
(Behk e T) A % H 3K

BHUER X Aisd# 7 2A
BHER X Afiax

At T V7% 150 304.95 X 0.038 2= 5.794 = 5.79
At T PE%%O 104.65 X 0.024 /2= 1.255 = 1.26
At T VU100 29.50 X 0.025 2= 0.368 = 0.37
N 7.42
B bk
it 7.42
3. MR B S (a3)
PR AR B - ) LR E H #(=D5+33.0m3,/ H
574.36 ~ 33.0 = 17.404 = 17.41
4. /K# H#(a0)
a0 = al + a2 + a3 = 25.24 = 26 H
5. IR T M OETERE R
SRR (L) /50
415.90 50 = 8.31 = 9
6. 115 ATH VKR H K
KRB EPET

26 9 = 2.8 = 3




ARG TR EE

L BRI A 2 (al)

o 48.63 H
& 48.63 H
2. B LB HGH AR EGa2)
T fii B & =¥V ® & A B |BYEELEl B %
BT AR T 1E05emET)) 164.1 5.0 34.6 77.2 280.9 268 | 1.05
ANENE L 2/8(30cmET)| o
268
S — HIBHE T 2/(40emET)) 34.6 77.2 139.4 251.1 268 | 1.87
. N 2
HIBHE T 3 E0cmET)) 164.1 2.5 166.6 268 | 1.87
\ 8 WL kT "
ol £
(e LTI L) | o5 mmpl b~ ssmmocis | ™ 164.1 34.6 198.7 250 | 0.79
As t=15cmlL T m 9240
A2 AR BT T
Co t=1bemLLF m 150
ERAERRRB A T t=10cmEL T m 810
el T, R BT | m3 .
NizEEiLe 2
TEELE m 358.6 8.5 160.5 418.2 945.8 1,580 | 0.60
EJE ¢El.4mU\J: rnz
T (s t=25mmbE~ 70mm A 409.6 9.3 160.5 579.4 2,300 | 0.25
ML RIE L) P T .
t=25mm Pk b~ 70mm A i m 1,000
B 7 G0 T i ot
i THh=3embd 51.0 0.8 51.8 1,800 | 0.03
BRI LT HE |
, SEAHONAA - 418 15em 8,200
B L B, 0 -
FEHR15cm 1,500
AN =
5 it 6.46
3. H%(a0)
a0 = al + a2 = 55 H
A A FiEB 55 X 2 = 1o A




HER&KXER

A
BRESRFEISITE
I 5] iR % B - = # =1
EikE BZ2HRIR 1ty (BOm)BYEE E 105.485 X30. 3624
Bt E 8.372 x 30/ 26
113857 X30. 3884 = 8.794 t 8.794 t
EET SHERIET —fgThE 26T Coi& 18/ BFE 28 5 &P 5 BT
"’EE ERRSE N RlE 415.9 m - 100 m/ & 50 & 5 &
BT EEE hASHEE AEHR 305.0 m 305.0 m
m{tEH 5  HfR 5  HfR
THEHABRT WOE D=L Oa— R 1 = 1 ##
SERBT EEE 104.7 m 105 m




B B g T —fEma
= W= 0.91 B
No scale
EE L= 1.50
2 H= 1.50 1,500
8 108RmE YR HITE
QEEEHIEA(13)
30 SHEREIRT 20
Ashit
190 2R
Y :?cﬁ—ﬁo
1,430
630 %’51
EmEREY)
ST (09 x 2 + 15 2 ) x 1 50 m
BRI T 0.91 x 150 x 1 14 m
ADEEI-FEA 0.91 x 1.50 X 143 x 2.0 m
BRI (1#) 0.91 x 1.50 x 0.63 x 0.9 m
BRI (BRERY) 0.91 x 1.50 X 0.20 x 0.3 m
e 20 - ( 0.9 + 0.9 ) X 1 1.0 m
ASTRIE - 05> 0.91 X 1.50 X 0.07 X 0.1 m
L EEEAET(C-20) 0.91 x 1.50 X 1 14 m
T B #E#E T (RC—40) 0.91 x 1.50 X 1 14 m

SRR IE

(BEEREAs(13)t=3cm P1-})

SHEBWBTICEC




OB T L FIE
] w= 0.91 73
No scale
EE L= 1.50
# H= 1.50 1,500
5 158 mE YEHI BT E
QBEEFEHIEAs(13)
100 c—20 BA 100
HRET
300 RC—40
HET
200 TR
1,400
HRET
900 33
SRR
A SEHI-FEA V= 0.91 15 x 15 x 2.0 m
BRI (/) V= 0.91 15 x 0.90 x 1.2 m
BRI (BRiEA) V= 0.91 15 x 0.20 x 0.3 m
KA V= 20 ( 1.2 - 0.9 ) 1 0.7 m
L BT (C-20) A= 0.91 15 X 1 14 m
T B T(RC—40) A= 0.91 15 X 1 14 m




i BB U T CoffiE

] w= 0.91 &
No scale
EE L= 1.50
2 H= 1.50 1,500
5 158 mE YEHI BT E
QBEEFEHIEAs(13)
Collk 30
HRET
200 RC—40
200 BRI
BREER -7 1,470
1100 BRI
T
(10&EFr&zY)
YT L= ( 0.9 X 2 + 15 x 2 ) = 5.0 m
B A= 0.9 x 15 = 14 m
CORRIEH - 5> V= 0.9 X 15 X 0.03 = 0.04 m
A SEHEI-FEA V= 0.9 X 15 X 1.47 = 2.0 m
ELE- 0B V= 1.4 - (004 -+ 09 ) x 1 = 1.4 m
BRI (BRiEA) V= 0.9 X 15 X 0.20 = 0.3 m
LB T(C—20) A= x X = - m
T B T(RC—40) A= 0.9 x 15 = 14 m
HEREIR A= = - m




X E A

R (EF)

e i |
BEREISEISE
I & i i - = # =
) B ¥k OB B Yk
1Yk (B0m) HYEES A &( 36992 + 105485 )x30.( 107 + 362.4 )
EiRE BEfRik
BFE( 3143 + 8372 ) x30.( 30 + 26 ) BEMTEHLE
( 40135 + 113857 )x30.( 137 + 388.4 ) 8.790 t 8.79 t
) B ¥k
BEAR ( 1 + ) 1
—fiETE ( + 2 ) 2
BT HERIET
Coi& ( + 1 ) 1
RE ( + 2 ) 2
6 & 6 &R
) B ¥k
"’BE EERFE ki
(1070 + 4159 ) m = 100 m/ & 6.0 & 6 &R
) B ¥k
hASHRE AER (1049 + 3050 ) 409.85 m 409.9 m
BEiiEEE Rt ER ( 2 + 5 ) 7 & 7 &FT
TERABT ( + 1 ) 1 =l 1 HERr
SEHBRT EEERELY ( + 10465 ) 104.65 m 104.7 m




